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Question: 1 
   
Which of the following BEST describes how a commitment to embrace change is driven by continual 
improvement efforts? 
 
A. DevOps stakeholders are open to improving activities and practices when changes are found to make 
things better 
B. Leaders and teams that are not familiar with process improvement techniques have a hard time 
sustaining it. 
C. Technology continually changes and IT people must keep up with these changes or risk becoming 
obsolete. 
D. IT professionals understand that the third way of DevOps means experimentation should be the 
preferred approach 
 

Answer: A     
 

Question: 2 
   
Which of the following is NOT a Key characteristic of a collaborative relationship type? 
 
A. Communication 
B. Cooperation 
C. Transparency 
D. Trust 
 

Answer: C     
 

Question: 3 
   
Which of the following is NOT a result of pun? 
 
A. Production before a customer order 
B. Production based on a customer order 
C. Small buffer inventory 
D. Reduction of bottlenecks 
 

Answer: A     
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Question: 4 
   
Which of the following BE ST describes an aspect of the continuous deployment pipeline that a release 
engineer can influence beyond the technical aspects of a feature or application release? 
 
A. Self-service model 
B. Policies and procedures 
C. High velocity 
D. Hermetic builds 
 

Answer: B     
 

Question: 5 
   
Which of the Knowing BEST describes how reporting can contribute to transparency? 
 
A. It shows the progress of the effort compared to agreed targets 
B. It provides technical information to the Business it enables 
C. IT to provide one report to all recipients 
D. It highlights only the most successful IT results 
 

Answer: A     
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